7.1 AP Practice Problems

solution,

d
@ 2o + 3sin®xcosx
dx

, . 3 .
L Identify the differential equation for whichy =mx +sin"x1sa

’. 1)
j = 10 + 3(‘_:/:’))()21;05K

=X+ (é,};x)g

>«h Rule

‘ 2 ]deﬂﬁfy the differential equation for which y =
Solution, 4
‘ (A) i Y = 3g3x—4 (B) y" = 3X€3x
1
o ¥y = 5}’:—1

Ix—4

© y= %—eh"“

3. The general solution to the differential equation
y = (x-3)?2@x+1)is

3
-3
(A) y:(—-—"'s ) (2x+4)+(x—3)(
(B) y=6x2-22x+12+C
©€) y=2x* 11> +122+C
1

! 11
— eyt X462+ +C

J Lﬁj = g(x—ﬂz(ﬁxﬂ) Ax
= g(ﬂxw) (x*- 6X-*7) Ax

2x-1
2

= tisa

2
) +c

4

F”’f———————___‘_’__——_/f
i d . -~ 3
R in: 3INX
(© gi—’ = —3sin® x COSX T
d
(D) Z'Z = 7 -+ 3(sin x)?
fin X Yed v

g@:&- 12x7 +15x4 X -4 x4 9 dx

Y&Zx{ X +12x 49 dx

i1 1ad g
4 = _5: T

—

xt

| 3 2.9 . .
7 - 3x et htC




ﬂ 4 The particular solution of the differential equation
d
o2 S xxa/xz 1 with the initial condition, ifx =3,

dx
then y == 2 is
(A) y:%(ﬂ—al)“/%w y:gcﬁﬂ!)“”—-fi \* |
4 #3 2 _1)43 414 Pudi "‘ i‘/(g) l
€) y= @~ +6 D) y= & ¥+ 74
| 3 u' selve flar ¢
’ lf - -

j gx(f_‘;’) f})\ J}/“ i %“ P g T« O/z' }(3 {l%_;c
w=x>-( Ax-o"w o = 3’(. L”3 ( */:-s )
lu ax z X ?) C
@:

7.2 AP Practice Problems
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